



St. Louis County, Minnesota

Date of Report: 5/9/2025 3:12:40 PM

		General Detai	İs							
Parcel ID:	235-0030-03130	Ochiciai Detai								
		Legal Description I	Details							
Plat Name: BALKAN										
Section	Towns	ship Rang	je	Lot Block						
20	59	20		-						
Description:	SW 1/4 OF SW 1	/4								
Taxpayer Details										
Taxpayer Name	MCCASH CHARL	ES								
and Address:	6326 LONG LAKE	RD								
	CHISHOLM MN	55719-8062								
		Owner Details	S							
Owner Name	MCCASH CHARL	ES								
Owner Name	ROBBINS MARIE	Е								
		Payable 2025 Tax Si	ummary							
	2025 - Net Ta		\$1,901.00							
	2025 - Specia		\$85.00							
	2025 - Tota	2025 - Total Tax & Special Assessments \$1,986.00								
		Current Tax Due (as o	f 5/8/2025)							
Due May 15 Due October 15			15	Total Due						
2025 - 1st Half Tax	\$993.00	2025 - 2nd Half Tax	\$993.00	2025 - 1st Half Tax Due	\$0.00					
2025 - 1st Half Tax Paid	\$993.00	2025 - 2nd Half Tax Paid	\$993.00	2025 - 2nd Half Tax Due	\$0.00					
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00					

Parcel Details

Property Address: 6326 LONG LAKE RD, CHISHOLM MN

School District: 695
Tax Increment District: -

Property/Homesteader: MCCASH, CHARLES W & JAYCE R

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (50.00% total)	\$33,800	\$112,600	\$146,400	\$0	\$0	-		
111	0 - Non Homestead	\$36,000	\$0	\$36,000	\$0	\$0	-		
	Total:	\$69,800	\$112,600	\$182,400	\$0	\$0	1657		





St. Louis County, Minnesota

Date of Report: 5/9/2025 3:12:40 PM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

0 011 011 2 07 11 11 17						
0.00						
0.00						
t guaranteed to be surve	ey quality. A	dditional lot	information can be	e found at	.	
					rax@stiouiscountymn.gov	
	-		•	•	Style Code & Desc.	
					1S+ - 1+ STORY	
		-				
•		•				
-	-					
				_		
_	-			_		
•					HVAC	
Deuroom Count		KOOIII C	ount	•	CENTRAL, WOOD	
				-	CENTRAL, WOOD	
			•	•		
				Basement Finish	Style Code & Desc.	
1950	432	2	432	-	DETACHED	
Story	Width	Length	Area	Foundation		
0	18	24	432	FLOATING SLAB		
ı	mproven	nent 3 De	tails (20X24 S	T)		
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
0	480)	480	-	-	
Story	Width	Length	Area	Founda	tion	
0	20	24	480	POST ON G	ROUND	
ı	mproven	nent 4 De	tails (12X30 S	T)		
Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
0	360)	360	-	-	
Story	Width	Length	Area	Founda	tion	
1	12	30	360	FLOATING	SLAB	
l.	mprovom	ont 5 Dot	tails (CAPPOR)T\		
	•		•	•	Chula Carla 9 Daga	
				pasement rinish	Style Code & Desc.	
Story	Width	Length		- 	tion -	
	vvicitD	i enath	Area	Founda	UUII	
	0.00 t guaranteed to be surve ov/webPlatsIframe/frmF Image	0.00 t guaranteed to be survey quality. A pov/webPlatsIframe/frmPlatStatPopU Improvement	1000 t guaranteed to be survey quality. Additional lot ov/webPlatsIframe/frmPlatStatPopUp.aspx. If the survey quality is provided by the survey quality of the survey quality. Additional lot ov/webPlatsIframe/frmPlatStatPopUp.aspx. If the survey quality. Additional lot ov/webPlatsIframe/frmPlatStatPopUp.	Story Width Length Area	Improvement 2 Details (DET GARAGE)	





St. Louis County, Minnesota

Date of Report: 5/9/2025 3:12:40 PM

				(4.0)(00.00)				
Improvement Type	- Veer Built	•	ment 6 Details	•	acament Finish	Chulo	Cada ⁹ Daga	
Improvement Type Year Built STORAGE BUILDING 0					Basement Finish Style Code & D			
Storage Buildin			Length	280 - Area		otion	-	
BAS	0	y vvid tii 14	20	280	Foundati			
ВЛО					POST ON GROUND			
		•	nent 7 Details (•				
Improvement Type			Main Floor Ft ² Gross Are				Style Code & Desc.	
CAR PORT	0	54		540			-	
Segmen	'		Length	Area		Foundation		
BAS	0	18	30	540	POST ON (GROUND		
		Sales Reported	to the St. Lou	is County Audit	or			
No Sales informat	tion reported.							
	-	Λ.	ssessment His	tory				
	Class	A	ssessment His	tory	Def	Def		
	Class Code	Land	Blda	Total	Def Land	Def Blda	Net Tax	
Year	(Legend)	EMV	EMV	EMV	EMV	EMV	Capacity	
2024 Payable 2025	201	\$33,800	\$112,600	\$146,400	\$0	\$0	-	
	111	\$36,000	\$0	\$36,000	\$0	\$0	-	
	Total	\$69,800	\$112,600	\$182,400	\$0	\$0	1,657.00	
	201	\$33,800	\$103,200	\$137,000	\$0	\$0	-	
2023 Payable 2024	111	\$36,000	\$0	\$36,000	\$0	\$0	-	
Í	Total	\$69,800	\$103,200	\$173,000	\$0	\$0	1,605.00	
	201	\$30,300	\$84,100	\$114,400	\$0	\$0	-	
2022 Payable 2023	111	\$30,000	\$0	\$30,000	\$0	\$0	-	
2022 1 dyddio 2020	Total	\$60,300	\$84,100	\$144,400	\$0	\$0	1,309.00	
2021 Payable 2022	204	\$28,000	\$77,100	\$105,100	\$0	\$0	-	
	111	\$25,900	\$0	\$25,900	\$0	\$0	-	
	Total	\$53,900	\$77,100	\$131,000	\$0	\$0	1,310.00	
		-	Lax Detail Hist	orv		-		
	Total Tax & Special Special Taxable Building							
Tax Year	Tax	Assessments	Assessments	Taxable Land N			tal Taxable MV	
2024	\$1,791.00	\$85.00	\$1,876.00	\$66,727	\$93,81	8	\$160,545	
2023	\$1,789.00	\$85.00	\$1,874.00	\$56,732	\$74,19	6	\$130,928	
2022	\$1,679.00	\$85.00	\$1,764.00	\$53,900	\$77,10	0	\$131,000	





St. Louis County, Minnesota

Date of Report: 5/9/2025 3:12:40 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.